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Name:

SCH 4C Balancing Quiz

Complete each synthesis reaction:

Ba + N, ->
H, + 0, ->
Co, + MgO ->
NH, + HC1 ->
H,O + SO, ->

Complete each decomposition reaction:

CasN, -
AuCl ->

Mg (OH), ->
Ir,04 -
HC1 -

Complete each single replacement reaction:

Li,S + K 4
Ga,0, + F, ->
FeS + Ca -
CaCl, + F, ->
Sn;N, + Sc ->

Complete each double replacement reaction:

(NH,) ;P + caCl, -
Al (NO,) + K,CO, -
AuCl, + Caso, -

Mn (SO,) , + Au,C, -
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Name:

SCH 4C Balancing Quiz

Complete each synthesis reaction:

Al + 0, ->
H, + 0, ->
Co, + Na,O

NH, + HBr ->
H,O + SO, ->

Complete each decomposition reaction:

SrsN, -
FeCl, -
NaOH ->
PtO, -
H,0 ->

Complete each single replacement reaction:

Na,O + K ->

A1,0, + Cl, -
Cus + Mg ->
MgBr, + I, ->
Al1,(S0y);, + Ca ->

Complete each double replacement reaction:

(NH,) PO, + MgCO, -
Sn (NO3) , + Na,;PO, -
FeCl, + (NH,) PO, ->

W(COs), + KN -
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Name:

SCH 4C Balancing Quiz

Complete each synthesis reaction:

3 Ba + N, - Ba;N,
2 H, + 0, -> 2 H,0
co, + MgO = MgCO,
NH, + HC1 -> NH,C1
H,0 + SO, -> H,SO,

Complete each decomposition reaction:

Ca;N, - 3 Ca + N,

2 AuCl - 2 Au + Cl,

Mg (OH) , - MgO + H,0

2 Ir,0, - 4 TIr + 3 0,
2 HC1 - H, + Cl,

Complete each single replacement reaction:

Li,S + 2 K - K,S + 2 Li

2 Ga,0, + 6 F, - 4 GaF, + 3 0,
FeS + Ca - Cas + Fe

CaCl, + F, - CaF, + Cl,

Sn;N, + 4 Sc - 4 ScN + 3 Sn

Complete each double replacement reaction:

2 (NH,),P + 3 CcaCl, > Ca,p, + 6 NH,C1
2 Al (NO;), + 3 K,CO, > Al,(CO;), + 6 KNO,
2 AuCl, + 3 Caso, > Au, (SO,) , + 3 caCl,

2 Mn (S0O,); + Au,C, - Mn,C, + 2 Au,(S0,);
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SCH 4C Balancing Quiz

Complete each synthesis reaction:

4A1 +
2H, +
CO, +
NH; +
H,O +

Complete each decomposition reaction:

SrsN, -
2FeCl, ->
2NaOH ->
PtO, -
2H,0 -

30, - Al,0,
0, < 2H,0
Na,O -> Na,CO,
HBr -> NH,Br
SO, <  H,S0,

3C1,

3Sr + N,
2Fe +
Na,O +

Pt + O,

2H,

+ 0,

H,0

Name:

Complete each single replacement reaction:

Na,O +
2A1,0,

CusS +
MgBr,
Al,(S0y);

+

+

2Br

2K <% KO + 2Na
6C1, - 4A1C1, +
Mg -> Mgs + Cu
I, - MgI, +
+ 2Ca -> 3CasSo0,

+

(or + Br,)

2A1

Complete each double replacement reaction:

(NH,) ,PO,
3Sn (NO;),
3FeCl,

3W(CO,) ,

+

+

+

MgCO,
2Na;PO,
2 (NH,) ;PO,

4K,N

->

->

Mg; (PO,)

-> Sn; (PO,),

->

W;N,

+

+

Fe, (PO,), +

+

6K,CO,

(NH,) ,CO4
6NaNO,

6NH,C1



